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1.
Introduction
For the past several meetings, RAN2 made many agreements for Capability coordination. But there is no discussion on exceptional case of capability coordination i.e. exceeding UE capability.
In this contribution, in EN-DC, we consider the UE behaviour when the UE receives the configuration that cannot be complied due to the abnormal capability coordination.
2.
Discussion 
In LTE, if the UE receives the configuration that cannot be complied, the UE initiates the RRC connection re-establishment procedure according to TS 36.331 5.3.5.5. It also holds for DC case, i.e. even if only SCG configuration is not complied, the UE initiates the RRC connection re-establishment procedure.
Considering that invalid SCG configuration happens very rarely, it might be ok to have a simple solution, i.e. using RRC connection re-establishment procedure. 
However, in EN-DC, invalid SCG configuration may not be a rare case because Master Node and Secondary Node are different RATs, and thus coordination between Master and Secondary Nodes may not be successful. Once it happens, the UE may receive SCG configuration exceeding its capability, which leads to service interruption due to performing RRC connection re-establishment procedure.
In NR, one of main target is reducing interruption time. As invalid SCG configuration is predicated to be more frequent in EN-DC, it is also important to reduce service interruption time in this case.
Proposal 1. Study enhancement for reducing interruption time when the UE in EN-DC cannot comply with the received SCG configuration.
When the UE receives the SCG configuration that cannot be complied (i.e. invalid SCG configuration), we think the UE can keep the MCG configuration without performing RRC connection re-establishment procedure, but should inform the eNB/gNB about the invalid SCG configuration. Regarding to which node the UE informs about the invalid SCG configuration, there would be two options; 
· Option 1: The UE informs to Master Node about the invalid SCG configuration.
· Option 2: The UE inform to Secondary Node about the invalid SCG configuration. 
Before considering these options, we have the following question to be answered.
Q1. When the UE informs the received invalid SCG configuration, does the UE send only the indication of the received invalid SCG configuration or the modified SCG configuration that can be complied by the UE?

If the UE sends only the indication, the network nodes have to perform re-coordination of all elements in order to find which element exceeds UE capability. And there is possibility that the re-coordination may not be successful again. Hence, when the UE informs the received invalid SCG configuration, the UE should send the specific element with modified SCG configuration that can be complied by the UE. 
Proposal 2. When the UE receives the SCG configuration that cannot be complied, the UE should send the modified SCG configuration that can be complied by the UE.
Now considering Option 1, when the Master Node receives that the SCG configuration is invalid, it is necessary to perform coordination with the Secondary Node again, in order to identify invalid SCG configuration. In this case, there is possibility that the re-coordination may not be successful again. 
However, for Option 2, Secondary Node can identify which element is invalid and which configuration should be modified based on the modified SCG configuration transmitted by the UE. Hence, we think Option 2 is desirable. (Note that Option2 does not mean that the UE sends modified SCG configuration directly to the Secondary Node.) 
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Figure 1. Example of handling invalid SCG configuration
For example, we assume the total of L2 buffer size of UE = 10 MB and the UE receives the MCG configuration including L2 buffer size = 6 MB. If the UE receives the SCG configuration L2 buffer = 5MB, the UE cannot be complied with it. In this case, the UE sends modified SCG configuration with L2 buffer = 4MB that the UE can comply with.
Proposal 3. The UE sends the modified SCG configuration that can be complied by the UE to the Secondary Node.
3.
Conclusion
In this contribution, we discussed the UE behaviour when the UE in EN-DC receives the SCG configuration that cannot be complied by the UE and we propose the followings:
Proposal 1. Study enhancement for reducing interruption time when the UE in EN-DC cannot comply with the received SCG configuration.

Proposal 2. When the UE receives the SCG configuration that cannot be complied, the UE should send the modified SCG configuration that can be complied by the UE.

Proposal 3. The UE sends the modified SCG configuration that can be complied by the UE to the Secondary Node.
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